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B.g BSMAT-MJ303
"SC. DEGREE EXAMINATION, NOV./DEC. - 2024
MATHEMATICS
Laplace Transforms & Problem Solving Sessions
(Semester - III) (Major)
(w.e.f. 2023 - 2024 Admitted Batch)

Time : 3 Hours Max. Marks : 75
e
ECTI - A

Answer any Five of the following questions.  (5%5=25)

1. Find L{(sin # + cos #)?}.
L{(sin ¢ + cos #)*} & 8x085,08.

4, 0<t<l

2. Find L{F(?)} ifF(t)={3 t>1

4, 0<t<l
F(t)={3

3. IfL{F(Y)} =f(p) then prove that L{e*F(5)} = f(p — a),
p—a>0.
L{F(} =f(p) ®cw8 L{e*F(0)} =f(p—a),p—a>0&d
DERDOI0E.
4. Find L{sin%(ar)} using change of scale property.
D@0 HOBYS DoDHERY edAiRGodD L {sin*(af)} & B:08%08.
5. Evaluate L{tsin at}.
L{tsin at} & tf8oS0b.

@ond L{F(f)} & 5:5085,08.

’
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2p+1

f— -
2 Find the inverse Laplace transforms 0% (5 1.1y

2p+1
p(p+l)

8. Find L {log(H;},-J}.

L'<log 1+—15- 0 8:508%,08.
p

& HOSER 8506508,

0%, HET0 &R

ECTION - B
Answer All of the following questions. (5%10=50)

9. a) Find

i) I.4{7e2t + Qe 2t + SCOS t+ 78 + 5si +2
i) L{@+1y sin 3¢+2)

1) L{7e"+9¢™+5cost+ 75 + 5sin 3¢+ 2}
i) L{(#+ 1)} s sosson,
OR
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b) Find the Laplace transform of F(f) defined as

1, 0<t<2
Fu)=42’ 2<t<4
3, 4<t<6
|0, t>6
(1, 0<t<2
<
F(f) & F() =1 z i:(: » 8)6500‘6)@626 F(f) a3»8,
0, t>6
eRERD HOBER B5E%08.

10. a) Find
i) L{e*cos2t}
i1) L{e’3‘(2c055t—3sin5t)}
i) L{e*cos2t}
ii) L{e"‘(20055t—3sin5t)} o0 B3088,06.
OR
b) State and prove initial value theorem.

80 Hend DROTY DHDOD SO0 HERDOTIOE.
11. a) If L{F(9)} = f(p) then prove that

L{ [ f(u)du} - —ll;f(p).

' 1
L{F(?)} = f(p) ®0»8 L{If(“)du}=-p-f(l?) od
DERDOSOB. '
OR

b) Find L{(*-3t+ 2)sin 3t}.
L{(£—3t + 2)sin 3t} & 8506%08.
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12. a Fi L"{ pi+p-2 }
) Find p(p+3)(p-2)

L pl+p=-2 }
| {p(p+3)(p—2) % 8508%00.
OR

b) IfL-l{ 4 }=l'tsintthenﬁnd1:'{{}.

(P+17) 2 (4p% 41

L“{¢ 1 N
sa)gs(p’n)z} y foinfecxd L {ﬁ}m
108,

13. a) Apply convolution theorem t

L—l{ 1
(P-2)(p+2)| -

S PEE R RERoBY Se0HS L { 1 } o
6530508, (P-2)(p+2y

O evaluate

b) Using Heaviside®

m&@bédm“mggmm L-.{ 3p+1 }a’»
558508, (P-D(+1)
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